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No suppiemenmry answer book will be
precisely in the main answer book only,
Tt o et ) qre T qftE w9 @ S o e ) e 5 3w g o i e vl & T
ferd |

All the parts of one question should be answered at one place in the answer book. One complete question should
not be answered at different places in the answer book.
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Write your roll number on question. paper before you start writing answer of questions,
M%wmﬁﬁ{dm—qﬁwfrﬁwmmu

Attempt FIVE questions in ull, selecting ONE question from each unii.

FAF T T A g T 9T F g I uiE W F sw ¥

given to any candidate. Hence the candidates should write the answers

UNIT - 1/5%W - I
1. (&) What do you mean by NMR spectroscopy ? 1
NMR SR | 19 w0 v #7
}b}/ Explain with example shielding and deshielding effects. 3
Tvata gfeeor 3 faafrem e 1 sew @ g el |
(c) . What is meant by spin-spin splitting ? Explain by the example of Ethyl bromide. 3
- T faure § 7 e #2 fue s 9 3w g aweEd
2. (a) What are enolates ? Explain the acidity of reactive methylene group. 2
etz 3 &7 WiEy faedieis e &t g 5 g |
(b} How you will prepare the following from Ethylacetoacetate ? 1'atl'g+2

Frerferfam 91 et @ 44 s )
(i)  Crotonic acid
wEifaF o
(i) 4- methyl Uracil
4 - Afya JE
(i) Antipyrene

of=ad
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UNIT - 11 / 37§ - 11

3. Explain the following :

Trafaten = )
_{:\[a) Why Pyrrole shows acidic property ?
folis sreiig 7T 1 v T &2
) Structure and Aromaticity of Thiophene.
TEIEA ) WEA A e
{,.(C) Nitrogen atom in pyridine is tertiary in character.
TR 1 egiom vy gebtass gt &1 2

(@)  Electrophilic substitution in Furan takes place at 2 - position.

W 1 saered whrera sfafe 2 - ol 8 &t 2

4, Write short notes on :

Frefafes w Hfga femfort fafed
(a) Skraup's synthesis of quinoline
WY Hyervr g faetet
(b)  Isoquinoline by Bischler - Napieralski Synthesis
forvet AaeTeaE] WY g SgEiEre
{c) Tschitschibabin reaction.
Fafadfam sfufFn
(d) Reissert synthesis
T dyeryu

UNIT - 111 / 31 - 111

b. Explain with example briefly.

Hftra ¥ ST gR THARY

(a) Erythrose and Threos diasterioisomer
fedg 7o g foafa g

(b)  Difference between anomer and epimer
TR TR H 3R sy |

(¢  Killiani Synthesis.
fepeireAt seetul

(d) Mechanism of Osazone formation
s o 1 frafafy

710 9

Ta+1%+1a+2=6%

1%+1%+1%4+2=6%

1%+1%+1%+2=6"



6. (a) Give one method of determination of ring size of Monosaccharides

b)
7 (a)
(b)
8 (a)
M)
9 (a)
(b)
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Explain briefly.

Wity § FIFRT :

(i)  Write the structure of Ribose and deoxyriboge

TErR A SetadEEn w weE e
(1) Redueing and non-reducing sugars.
AU U6 SA3TT=Ed Yo |
(1) What do you mean by Polysaccharides ?

ferdusst ¥ 3Ty ¥ U w2

UNIT -1V /3% -1V

1Y%+1%+1%

31a+3=6'3

What are proteine and peptides ? Explain the composition and constitution of protein and

peptides. https://www.uoronline.com

WEH T Aeree 70 99 ¥7 g9 W van W 9 e
Describe the Biological function of Nucleic acid.

et I F Afaw F v froi fafed

Describe at least two methods of preparation of @ - Amino acids.

o - A e 99 6 <) fafirl fafaw)

Write note on following :

e o1 feaqett fafaw

(i)  Isoelectric point
gufava fag

(1) Zwitter ion
frer aEd

UNIT-V/¥&§-V
Describe the mechaniam of sulphonation of benzene.
=i ¥ merriem % e fafy fafend |
(i)  Write two sulpha drug structure with name.
2 g stafy 1 7 3 goa fafan)
(ii) What are the advantages of Zeigler -Nattq Catalyst ?
‘ Serr- A 3 F AN FNR?
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10.

Write short notes on :

Hfira A feopital faf@d |

(a)  Molecular Orbital approach to colour.
TN &1 3] ek g |

(b)  Chromophore and Auxochrome.
FIHIPIT YT SR |

(c) What are azo dyes ? How will you prepare from methyl orange ?
ST 7 3 2 R i R aein 2

(d) Condensation polymerization.

T SEARIH Wb WA |
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